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Question Number : 236 Question Id : 226895692059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-1l

List-1 List-Il

(Weather element) (Instrument)

(&) Temperature (1) Dew gauge

(B) Rainfall (1) Anemometer
(C) Wind velocity (1) Rain gauge
(D) Dew (IV) Thermometer

Choose the correct answer from the options given below:

1.(A) - (1V), (B) - (1), {Q) - (), (D) - (1)
2.(A) - (0. (B) - (1), (C) - (1), (D) - (IV)
3.(A) - (), (B) - (), (C) - (V). (D) - (1)
4. (A) - (), (B) - (V). (Q) - (), (D) - (1)

Options :

2268952683158. 1
2268952683159.2
2268952683160. 3
2268952683161 4

Question Number : 236 Question Id : 226895692059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(V). (B)-(11), (©)-(, (D)-(1)
2. (A)-0). (B)-(1n, (©)-(), (D)-(1V)
3. (A)-(1): (B)-(1). (O)-(1V). (D)-(111)
4. (A)-(), (B)-(V), (©-(1. (@)-(1D

Options :

2268952683158. 1
2268952683159. 2
2268952683160. 3
2268952683161. 4

Question Number : 237 Question Id : 226895692060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which among the following is greenhouse gas?

1. Methane
2. Oxygen
3. Nitrogen
4. Hydrogen

Options :

2268952683162. 1
2268952683163.2
2268952683164. 3
2268952683165. 4

Question Number : 237 Question Id : 226895692060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952683162. 1
2268952683163. 2
2268952683164. 3
2268952683165. 4

Question Number : 238 Question Id : 226895692061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

is the major site for ATP synthesis amid oxidative metabolism and so called power house of cells.

1. Chloroplast

2. Nucleus

3. Ribosome

4. Mitochondrion

Options :

2268952683166. 1
2268952683167. 2
2268952683168. 3
2268952683169. 4

Question Number : 238 Question Id : 226895692061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952683166. 1
2268952683167. 2
2268952683168. 3
2268952683169. 4

Question Number : 239 Question Id : 226895692062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-I List-11

(Crop) (First hybrid variety)
(A) Maize (I) CSH-1

(B) Jowar (1) H-4

(C) Bajra (1) HB-1

(D) Cotton (IV) Ganga-1

Choose the correct answer from the options given below:

A) - (1), (B) - (1), (C) - (), (D) - (IV)
A) - (V), (B) - (), (C) - (), (D) - (1)
A) - (1), (B) - (1, (C) - (V) (D) - (1)

(
(
(
(A) - V), (B) - (0, (©) - (), (D) - (1)

1.
2.
3
4.

Options :

2268952683170. 1
2268952683171. 2
2268952683172. 3
2268952683173. 4

Question Number : 239 Question Id : 226895692062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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-1 -1

(PE) (T Ha )
(&) HaT (I CSH-1

(B) =@} (II) H-4

(C) FToRT (I HB-1

(D) PURT (IV) Ganga-1
Ad feu e f9ared! & 9§ |et 97k -
1. (A)-(1), (B)-(1), (O)-(1), (D)-(IV)

2. (A)-(IV), (B)-(11), (CJ-(1), (D)-(1)

3. (A)-(1), (B)-(11), (C)-(1V), (D)-(11)

4. (A)-(V), (B)-(1), (C)-(1), (D)-(11)

Options :

2268952683170. 1
2268952683171.2
2268952683172. 3
2268952683173. 4

Question Number : 240 Question Id : 226895692063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The inheritance of the AB blood group in humans is an example of -

1. Co-dominance

2. Incomplete dominance
3. Complete dominance
4. Over-dominance

Options :

2268952683174. 1
2268952683175.2
2268952683176. 3
2268952683177. 4

Question Number : 240 Question Id : 226895692063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. TB-UHTadT
2. 3qof guifaa
3. gof gIfda
4. Jffg-meqfaan

Options :

2268952683174. 1
2268952683175.2
2268952683176. 3
2268952683177. 4



Question Number : 241 Question Id : 226895692064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Enzymes are the molecules which -

1. Provides energy to the cell

2. Catalyse biochemical reactions

3. Saves the genetic information

4. Transmits genetic information generation to generation

Options :

2268952683178. 1
2268952683179.2
2268952683180. 3
2268952683181. 4

Question Number : 241 Question Id : 226895692064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952683178. 1
2268952683179. 2
2268952683180. 3
2268952683181. 4

Question Number : 242 Question Id : 226895692065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Rickets in growing children are caused due to deficiency of-

1. Vitamin A
2. Vitamin B
3. Vitamin C
4. Vitamin D

Options :

2268952683182.
2268952683183.
2268952683184.
2268952683185.

B W N =

Question Number : 242 Question Id : 226895692065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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1. faeTfi = A
2. faa& = B
3. faerfi=
4. faei[ D

Options :

2268952683182.
2268952683183.
2268952683184.
2268952683185.

B oW N =

Question Number : 243 Question Id : 226895692066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which among the following is a nitrogen-fixing bacteria-
{A) Rhizobium

(B) Azotobacter

(C) Azospirillim

(D) Streptococcus

Choose the correct answer from the options given below:

1. (A), (B) and (C) only
2. (A), (B) and (D) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952683186. 1
2268952683187. 2
2268952683188. 3
2268952683189. 4

Question Number : 243 Question Id : 226895692066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. 9G4 (A), (B) 3R (O)
2.%ad (A), (B) 3R (D)
3. (A), (B), (Q) 3R (D)

4.%4d (B), (C) 3R (D)

Options :

2268952683186. 1
2268952683187.2
2268952683188. 3
2268952683189. 4

Question Number : 244 Question Id : 226895692067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Development of an embryo or seed without fertilization is called-

1. Apomixis

2. Anthesis

3. Self-incompatibility
4. Male sterility

Options :

2268952683190. 1
2268952683191. 2
2268952683192. 3
2268952683193. 4

Question Number : 244 Question Id : 226895692067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
g & fo Yo o1 i & faera & de ol @ -
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Options :

2268952683190. 1
2268952683191. 2
2268952683192. 3
2268952683193. 4



Question Number : 245 Question Id : 226895692068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Syngamy led to formation of a specialized cell called-

1. Polar nuclei

2. Zygote

3. Antipadal cells
4. Endosperm

Options :

2268952683194. 1
2268952683195.2
2268952683196. 3
2268952683197. 4

Question Number : 245 Question Id : 226895692068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952683194. 1
2268952683195. 2
2268952683196. 3
2268952683197. 4

Question Number : 246 Question Id : 226895692069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-i

(Animal) (Breed)

(&) Buffalo (1) Sunandini

(B) Cow (II) White Leghorn
(C) Poultry (1) Toggenburg
(D) Goat {IV) Nili-Ravi

Choose the correct answer from the options given below:

A
A
A
A

- (W), (B) - (1), (Q) - (), (D) - (1)
= (1. (B) - (1), (C) - (), (D) - (IV)
- (1, (B) - (1), (C) - (W), (D) - (1)
= (), (B) - (V). (Q) - (), (D) - (1)

rLac Lo g halagee T

1.
2.
3.
4.



Options :

2268952683198. 1
2268952683199. 2
2268952683200. 3
2268952683201. 4

Question Number : 246 Question Id : 226895692069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(V), (B)-(1), (C)-(10). (D)-(111)
2. (A)-(1), (B)-(10), (C)-(11), (D)-(1V)
3. (A)-(0. (B)-(1N), (C)-(1V), (D)-{1ID)
4. (A)-(), (B)-(1v), (O-(1). (D)-(IN)
Options :

2268952683198. 1

2268952683199. 2

2268952683200. 3

2268952683201. 4

Question Number : 247 Question Id : 226895692070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
According to egg production, arrange the poultry breeds in descending order.-
{A) White Leghorn
(B) Rhode Island Red
(C) Assel
(D) Giriraja

Choose the correct answer from the options given below:

Options :

2268952683202. 1
2268952683203. 2
2268952683204. 3
2268952683205. 4



Question Number : 247 Question Id : 226895692070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952683202. 1
2268952683203. 2
2268952683204. 3
2268952683205. 4

Question Number : 248 Question Id : 226895692071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which crop produce is widely used to feed poultry birds in India ?

1. Maize
2. Rice
3. Wheat
4. Oat

Options :

2268952683206. 1
2268952683207.2
2268952683208. 3
2268952683209. 4

Question Number : 248 Question Id : 226895692071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952683206. 1
2268952683207. 2
2268952683208. 3



2268952683209. 4

Question Number : 249 Question Id : 226895692072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5§ Wrong Marks : 1

Fermented produce of green forage is called-

1. Hay

2. Green manure
3. Silage

4. Green cakes

Options :

2268952683210. 1
2268952683211. 2
2268952683212. 3
2268952683213. 4

Question Number : 249 Question Id : 226895692072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
& IR & fhfTad Iae i el o & -

1. U 9 (5)
2.8d@e
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Options :

2268952683210. 1
2268952683211. 2
2268952683212. 3
2268952683213. 4

Question Number : 250 Question Id : 226895692073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The lameness, swelling over shoulders and thighs, high temperature, death in three days to a cattle are principal
symptoms of:

1. Anthrax

2. Galaghotu

3. Pneumonia
4. Black quarter

Options :

2268952683214. 1
2268952683215.2
2268952683216. 3
2268952683217. 4

Question Number : 250 Question Id : 226895692073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952683214. 1
2268952683215. 2
2268952683216. 3
2268952683217. 4

Question Number : 251 Question Id : 226895692074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Hisardale is a new breed of sheep resulted from cross of

1. Bikaneri ewes and Marino rams
2. Bikaneri rams and Marino ewes
3. Bikaneri ewes and Bikaneri rams
4. Marino ewes and Marino rams

Options :

2268952683218. 1
2268952683219. 2
2268952683220. 3
2268952683221. 4

Question Number : 251 Question Id : 226895692074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952683218. 1
2268952683219. 2
2268952683220. 3
2268952683221. 4

Question Number : 252 Question Id : 226895692075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the dairy cattle and buffaloes with respect to average age at maturity for puberity and sexual maturity in
decreasing order-

(&) Purebred exotic cattle
(B) Zebu cattle

(C) Buffaloes

(D) Crossbreed cattle

Choose the correct answer from the options given below:

1.(Q). (D). (A), (B)
2. (D), (B). (Q). (A)
3.(Q). (B). (D). (A)
4.(Q). (A). (D), (B)

Options :

2268952683222. 1
2268952683223. 2
2268952683224. 3
2268952683225. 4

Question Number : 252 Question Id : 226895692075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952683222. 1
2268952683223. 2
2268952683224. 3
2268952683225. 4

Question Number : 253 Question Id : 226895692076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Frozen milk products include-

(A) Kulfi

(B) Ice-cream

(C) Ghee

(D) Dahi

Choaose the correct answer from the options given below:

1.(A), and (B) only

2. (A), (B) and (D) only
3. (A), (B), (C) and (D)
4. (B), (C) and (D) only
Options :
2268952683226. 1
2268952683227.2
2268952683228. 3
2268952683229. 4

Question Number : 253 Question Id : 226895692076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.%ad (A), 3R (8)
2.%4ad (A), (B) 3R (D)
3. (A), (B), (C) 3R (D)
4.%4d (), (C) 3R (D)

Options :

2268952683226. 1
2268952683227. 2
2268952683228. 3
2268952683229. 4

Question Number : 254 Question Id : 226895692077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Fat rich milk products exclude -

(A) Butter

(B) Khoa

(C) Ghee

(D) Kulfi

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (B), and (D) only

3. (A), (B), (C) and (D)
4. (B), (C) and (D) only

Options :

2268952683230. 1
2268952683231.2
2268952683232. 3
2268952683233. 4

Question Number : 254 Question Id : 226895692077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. @ad (A), (B) IR (D)
2.%ad (B), 3R (D)

3. (A), (B), (O) R (D)
4.%4d (B), (C) 3R (D)

Options :

2268952683230. 1
2268952683231.2
2268952683232. 3
2268952683233. 4

Question Number : 255 Question Id : 226895692078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



National Fish Farmers Day is celebrated in India on -

1.15 June
2,10 July

3.5 August

4. 2 September

Options :

2268952683234. 1
2268952683235. 2
2268952683236. 3
2268952683237. 4

Question Number : 255 Question Id : 226895692078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
YIRA H P HSl G aaw A Sl & -

1. 15
2.10 9als

3.5 3R
4.2 fodee

Options :

2268952683234. 1
2268952683235. 2
2268952683236. 3
2268952683237. 4

Question Number : 256 Question Id : 226895692079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The National Genebank in India was started in-

1.1983
2.2023
3. 1992
4. 2001

Options :

2268952683238. 1
2268952683239.2
2268952683240. 3
2268952683241. 4

Question Number : 256 Question Id : 226895692079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.1983
2.2023
3. 1992
4. 2001

Options :

2268952683238. 1
2268952683239. 2
2268952683240. 3
2268952683241. 4

Question Number : 257 Question Id : 226895692080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Covering the surface of the scil by any material is known as

1. Green manuring

2. Conservation tillage
3. Mulching

4. Contour farming

Options :

2268952683242. 1
2268952683243. 2
2268952683244. 3
2268952683245. 4

Question Number : 257 Question Id : 226895692080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952683242 1
2268952683243.2
2268952683244. 3
2268952683245. 4

Question Number : 258 Question Id : 226895692081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The nutrient moves up only in acropetal direction though xylem found in the plant system for:

1. Nitrogen
2. Calcium
3. Sulphur
4. Potassium

Options :

2268952683246. 1
2268952683247. 2
2268952683248. 3
2268952683249. 4

Question Number : 258 Question Id : 226895692081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. A1geioH
2. Bz
3. g
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Options :

2268952683246. 1
2268952683247. 2
2268952683248. 3
2268952683249. 4

Question Number : 259 Question Id : 226895692082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Glyphosate is used for weed control as a

1. Post- emeregnce selective herbicide

2. Post-emeregnce non-selective herbicide
3. Pre-emeregnce selective herbicide

4. Pre-emeregnce non-selective herbicide

Options :

2268952683250. 1
2268952683251.2
2268952683252. 3
2268952683253. 4

Question Number : 259 Question Id : 226895692082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



TUqaR FEAu & o TR eRe &1 3Uar 59 ¥U H [$a1 i 6 -

1. IRUG - UUTH IETEHS MHTT

2. 35T - Y, TR-IgTED ST
3. 354G - I0, 99-IE® QAR

4. 359% - T8, R-I91a® oI

Options :

2268952683250. 1
2268952683251. 2
2268952683252. 3
2268952683253. 4

Question Number : 260 Question Id : 226895692083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

MNagarjunasagar project was established on river

1. Krishna

2. Godavari
3. Pennar

4. Mahanadi

Options :

2268952683254. 1
2268952683255.2
2268952683256. 3
2268952683257. 4

Question Number : 260 Question Id : 226895692083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

B:ﬁ?ﬂ'{
4. Heal

Options :

2268952683254. 1
2268952683255.2
2268952683256. 3
2268952683257. 4

Question Number : 261 Question Id : 226895692084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the sugarcane ratoon management practices in proper sequence-
{A) Emerged shoots cut at ground level.

(B) Sides of ridges are broken by plough

(C) First irrigation is given 3 to 4 weeks after harvesting.

(D) Nutrients are given and an earthing up operation should be done.

Choose the correct answer from the options given below:

Options :

2268952683258. 1
2268952683259.2
2268952683260. 3
2268952683261. 4

Question Number : 261 Question Id : 226895692084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

T H U yaH el o Ifad wH # sgaieud 1 -

(A) STER Haeid U a1 ! HHde &R IR dledl

@IS EFMeadde Id e

(C) U Ra wers & 3 9 4 FwTg 9w o i 8

(D) UISE dcd U 9Id & 1R U@ a1 gl 96 @1 Uikl &f 9T 9ifed
it feu 7y fGeedl § 4 Hel IR I

Options :

2268952683258. 1
2268952683259. 2
2268952683260. 3
2268952683261. 4

Question Number : 262 Question Id : 226895692085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Gramineae family crop includes-

{A) Groundnut

(B} Gram

(C) Wheat

(D) Paddy

Choose the correct answer from the options given below:

1. (C) and (D} only
(A), (B) and (D) only
A), (B), (C) and (D)

2.
3.
4. (B), (C) and (D) only

—

Options :

2268952683262. 1
2268952683263.2
2268952683264. 3
2268952683265. 4

Question Number : 262 Question Id : 226895692085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Ui ufvaR @ wad | e §-
(A) Tl

(B) T
Qg
(D)t
4 feu e fawedl | § |et 97k g

1.%ad (C) 3R (D)
2.%ad (A), (B) 3R (D)
3. (A), (B), (C) 3R (D)
4.%4d (), (C) 3R (D)

Options :

2268952683262. 1
2268952683263. 2
2268952683264. 3
2268952683265. 4

Question Number : 263 Question Id : 226895692086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the proper steps in sequence for wheat harvesting-
{A) Winnowing and storage.

(B) Threshing

{C) Plants are bundled and dried for a few days.

(D) Cutting the plants close to ground level.

Choose the correct answer from the options given below:

Options :

2268952683266. 1
2268952683267.2
2268952683268. 3
2268952683269. 4

Question Number : 263 Question Id : 226895692086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

75 @1 Prg & (8 I DR Pl A H HaYT P -
(A) FIBRAT 3R HSrRu

(B) eI

(C) Ureff o 715 4T 3R S (e @l

(D) T1e! B Yfiae & BiiE § Bl

e fgg e el 9 98t S| I

Options :

2268952683266. 1
2268952683267. 2
2268952683268. 3
2268952683269. 4

Question Number : 264 Question Id : 226895692087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



How much percentage of earth's surface is constituted by ocean?

1.65%
2.71%
3.79%
4.81%

Options :

2268952683270. 1
2268952683271.2
2268952683272. 3
2268952683273. 4

Question Number : 264 Question Id : 226895692087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

ged| Bl Gefg B fba-1 W= HeHFR 4 &8 ?

1. 65 Uic=rd
2. 71 Ui
3. 79 U=
4. g1 widwd

Options :

2268952683270. 1
2268952683271.2
2268952683272. 3
2268952683273. 4

Question Number : 265 Question Id : 226895692088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-1I
(Crop) (Variety)

(A) Wheat (1) Virat

(B) Paddy (i) CO-86032
(C) Sugarcane (1) IR-8

(D) Gram (IV) HD-2496

Choose the correct answer from the options given below:

1. (A) - (1V), (B) - (1), {€) - (), (D) - (1)
2.(A) - (). (B) - (), (C) - (M), (D) - (IV)
3.(A) - (0. (B) - (1), (C) - (V). (D) - (D)
4. (A) - (), (B) - (V). (Q) - (), (D) - (1)

Options :

2268952683274 1
2268952683275.2
2268952683276. 3



2268952683277. 4

Question Number : 265 Question Id : 226895692088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT G-l B 1Y FHeq B -

-1 HA-11

(FHw) ()

() 7§ () TRme

(B) & (1 T3 - 86032
(€)= (1) TS, AR, -8
(D) T (IV) €. S1.-2496
I feu e fameal o © |et SR I
1. (A)-(IV), (B)-(11). (C)-(1), (D)-(D

2. (A)-(1), (B)-(11), (C)-(1), (D)-(1V)

3. (A)-(, (B)-(1), (C)-(1V), (D)-(1D)

4. (A)-(I), (B)-(V), (O)-(1). (D)-(I

Options :

2268952683274. 1
2268952683275.2
2268952683276. 3
2268952683277. 4

Question Number : 266 Question Id : 226895692089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

When fruits and vegetables are brought suddenly to a very low temperature at which all the chemical reactions stop, it
is known as -

1. Freezing

2. Drying

3. Fermentation
4. Pickling

Options :

2268952683278. 1
2268952683279. 2
2268952683280. 3
2268952683281. 4

Question Number : 266 Question Id : 226895692089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

e Wil 3R Wissral I EHe Sgd BH g UR Tl Sl ¢ forg W g+ g widfeans | gl odl g, 38—
& B H FET S8

1. U=l

2. @M
3. fopuaq

4, SR g1



Options :

2268952683278. 1
2268952683279.2
2268952683280. 3
2268952683281 4

Question Number : 267 Question Id : 226895692090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-lI

(Crop) (Variety)

(A) Tomato (1) Pusa Purple Long
(B) Brinjal (1) Kufri Chipsona-1
(C) Mango (1) Pusa Ruby

(D) Potato (IV) Amrapali

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (), (C) - (1), (D) - (V)
2. (A) - (), (B) - (1), (C) - (V). (D) - (1)
3. (A) - (1), (B) - (1), (©) - (V). (D) - (1)
4. (A) - (), (B) - (1), (C) - (), (D) - (IV)

Options :

2268952683282. 1
2268952683283.2
2268952683284. 3
2268952683285. 4

Question Number : 267 Question Id : 226895692090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT -1 & 1Y e B -

-1 11l

(Fwe) e

(A) THICY (1) O a7 @i
(B) &7 (1) BB RwEEr-1
(C) 3H (1) g& =

(D) 3T, (EIECIN]

T4 fey U 9l § 4 Wel Ik I

1. (A)-(1), (B)-(1), (C)-(11), (D)-(1V)
2. (A)-(), (B)-(1), (C)-(1V), (D)-(1)
3. (A)-(m, (B)-(1N), (C)-(IV), (D)-(1)
4. (A)-(), (B)-(1. (Q)-(1), (D)-(IV)

Options :
2268952683282. 1



2268952683283. 2
2268952683284. 3
2268952683285. 4

Question Number : 268 Question Id : 226895692091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Standard, Spray or bush form, Pot-mums and Coniform are the different types of -

1. Marigold

2. Gladiolus

3. Chrysanthemum
4. Rose

Options :

2268952683286. 1
2268952683287.2
2268952683288. 3
2268952683289. 4

Question Number : 268 Question Id : 226895692091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

RUSE, B 91 g9-B1 &1 w, tleAH IR SIHeH FiE R & BN E

1. 70T
2. fegay
3. T[eiar3al
CRIGICH

Options :

2268952683286. 1
2268952683287. 2
2268952683288. 3
2268952683289. 4

Question Number : 269 Question Id : 226895692092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

The commercially adopted propogation method in India for Grand Naine banana is -

1. Seed

2. Sword sucker
3. Tissue culture
4. Water sucker

Options :

2268952683290. 1
2268952683291. 2
2268952683292. 3
2268952683293. 4

Question Number : 269 Question Id : 226895692092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

43 9134 todl & folU YR H AGHIidd ©4 9 30T 75 U9 [afd 8-

1. ol

2. Gg S YERI
3. $Ha® Yadq

4. S &Rl

Options :

2268952683290. 1
2268952683291.2
2268952683292. 3
2268952683293. 4

Question Number : 270 Question Id : 226895692093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The grape variety grown for juice extraction is :

1. Bokhari
2. Dilkush
3. Sonaka
4. Banglore Blue

Options :

2268952683294. 1
2268952683295. 2
2268952683296. 3
2268952683297. 4

Question Number : 270 Question Id : 226895692093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

T [FdTeH & U 39U o Al R @1 e &

1. drER]
2. fempm
3. GH®I
4. FTER &

Options :

2268952683294. 1
2268952683295.2
2268952683296. 3
2268952683297. 4

Question Number : 271 Question Id : 226895692094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Which of the following cabbage variety is resistant to black rot disease?

1. Pusa Ageti
2. Pusa Drum Head
3. Pusa Mukta
4. September

Options :

2268952683298. 1
2268952683299. 2
2268952683300. 3
2268952683301. 4

Question Number : 271 Question Id : 226895692094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fafatad & @ garmd @ oF O fore Sl ISty I & fom ufaRisdh g 2

1. T ST

2.qHTgHES
3. T T

4. fgdsR

Options :

2268952683298. 1
2268952683299. 2
2268952683300. 3
2268952683301. 4

Question Number : 272 Question Id : 226895692095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange proper sequence of the steps in stone grafting in Mango-
{A) Top portion of the root stock is cut off leaving 7 to 8 cm stem.
(B) The scion is inserted in the vertical cut of the root stock and tied with polythene strip.
(C) A scion is given slanting cuts from both the ends giving it a wedge shape.
(D) A vertical cut of about 2-3 cm length is given to it.
Choose the correct answer from the options given below:

1. (A), (D), (C),
2. (A), (B),
3. (B). (A),
4.(Q). (B)

Options :

2268952683302. 1
2268952683303. 2
2268952683304. 3
2268952683305. 4



Question Number : 272 Question Id : 226895692095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

M H P Hareyd & U &I 3ud HH J SHaRyd &y -

(A) TG & HU<l oW @1 7 4 ¢ YR o1 BIc o e ear odl &

(B) TR &I W & HHEIR e H Sl 9l & R UlierH &1 Ugl ¥ syl 9l 8
(C) U GipR @l GiHl 1T 4 a1 e famr 9rar & of 58 Ua foReT HeR ol g
(D) 39 TR 2-3 Y.HI. a1 P UF FalER $e eg1 T 8

4 fog 7o faeed! o O |@t IW -

(A), (D), (C), (B)

(A), (B), (C), (D)
(B). (A), (D), (©)
(@), (B), (D), (&)

)
). (B),

1.
2.
3.
4.

Options :

2268952683302. 1
2268952683303. 2
2268952683304. 3
2268952683305. 4

Question Number : 273 Question Id : 226895692096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Which of the following planting systems is generally followed on the hills for the establishment of a fruit orchard?

1. Square system

2. Rectangular system
3. Hexagonal system
4. Contour system

Options :

2268952683306. 1
2268952683307.2
2268952683308. 3
2268952683309. 4

Question Number : 273 Question Id : 226895692096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Hdl & ailid ] W & ot Ugifedl 0 & dik U= FafaRad 3 3§ fig 90y orel &1 ureH fear sl & 2

1. @ HOTTCH
2. HOdIHR UMt

3. USHSBR HUrTci!
4. = ATt

Options :

2268952683306. 1
2268952683307.2
2268952683308. 3
2268952683309. 4



Question Number : 274 Question Id : 226895692097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following combinations of fruits and vegetables are the richest source of vitamin-A?
{A) Mango, carrot, spinach

(B) Sweet orange, acid lime

(C) Papaya, leafy vegetables

(D) Aonla, Guava

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A) and (C) only

4. (B), (C) and (D) only

Options :

2268952683310. 1
2268952683311. 2
2268952683312. 3
2268952683313. 4

Question Number : 274 Question Id : 226895692097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Hal AR Tfeoal o Fafarad By o 1 o5 91 iy GeffF-T (vitamin - A) &1 990 995 94 87
(A) 3HTH, TSR, UTe®

(8) HIT AR, Al

(c) udiaT, ToieR wisar

(D) 3AiTd, 3HEG

fd e e faeedl & § |8t IR g+

1.9ad (A), (8) 3R (D

2.%ad (4), (B) 3R (O

3. &ad (A) 3R (C)
4.7%ad (B), (C aﬁ?( D)

Options :

2268952683310. 1
2268952683311.2
2268952683312. 3
2268952683313. 4

Question Number : 275 Question Id : 226895692098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Among the following which fruit is a richest source of ascorbic acid ?

1. Winter guava
2. Acid Lime

3. Sweet orange
4. Aonla

Options :

2268952683314. 1
2268952683315. 2
2268952683316. 3
2268952683317. 4

Question Number : 275 Question Id : 226895692098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FafefEd § ¥ o1 91 B Glas TS & 969y TS | o7

1. BidPITE HEG
2.4ig

3. 181 AR

4. 3igar

Options :

2268952683314. 1
2268952683315.2
2268952683316. 3
2268952683317. 4

Sub-Section Number : 2
Sub-Section Id : 22689528605
Question Shuffling Allowed : No

Question Id : 226895692099 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (276 to 280)

Read the following passage carefully and answer the questions:
Kisan Credit Card (KCC)

The farmers in India have to face a lot of difficulty in arranging short term funds for the planting and harvesting seasen and to
meet other agricultural needs. They are largely dependent on credit from the unorganized sector such as money lenders who
charge exorbitant rates of interest. Realizing the need for such short-term credit, the Kisan credit card scheme was launched by
the Reserve Bank of India and National Bank for Agriculture and Rural Development (NABARD) . The kisan credit card is a credit
scheme introduced in August 1998 by Indian banks. The model scheme was prepared by the NABARD on the recommendations
of the R.V.Gupta committee to provide term loans and agricultural needs, Under the Kisan credit card scheme, customers can
get two types of credit, i.e.cash credit and term loans. A short-term credit limit is offered on the Kisan credit card for smaller
agricultural needs. Term loans can also be taken for cultivation, buying equipment, irrigation.etc. The farmers also receive a
passbook which contains all the relevant details of land holding, credit limit, validity, etc. The repayment period in kisan credit
cards is up to a maximum of 12 months and card is valid for a period between 3-5 years.

Sub questions
Question Number : 276 Question Id : 226895692100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Kisan credit card scheme is introduced in-

1. August 1998
2. July 2002
3. August 1993
4. June 1998

Options :

2268952683318. 1
2268952683319. 2
2268952683320. 3
2268952683321. 4

Question Number : 277 Question Id : 226895692101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Full form of NABARD is -

1. National bank of development

2. National Bank for Agriculture and Rural Development
3. National Bank for Agriculture Development

4. National Bank for Rural Development.

Options :

2268952683322 1
2268952683323.2
2268952683324. 3
2268952683325. 4

Question Number : 278 Question Id : 226895692102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The repayment period in kisan credit card is maximum upto -

1. 9 months

2. 24 months
3. 12 months
4. 20 months

Options :

2268952683326. 1
2268952683327.2
2268952683328. 3
2268952683329. 4

Question Number : 279 Question Id : 226895692103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Kisan Credit Card is the model scheme that was prepared by NABARD on the recommendations of-

1. M. §. Swaminathan Committee
2. Philip Kotler Committee

3. Rane Committee

4. RV.Gupta Committee

Options :

2268952683330. 1
2268952683331. 2
2268952683332. 3
2268952683333. 4

Question Number : 280 Question Id : 226895692104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The kisan credit card is valid for a period of-

1.3-5 years
2.9-12 years
3. 13-15 years
4. 20-25 years

Options :

2268952683334. 1
2268952683335.2
2268952683336. 3
2268952683337. 4

Question Id : 226895692099 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (276 to 280)

frae Ffee o€ . . &)

YR ¥ fHaH B 90 3R Bl & AH & U AR 39 S Taxadmarsl ®f O & & [od Adliad ¥ o odaey] @3- J
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Hise BIS TleHl I 31 T3 41| [HTH Hise Bre YRAT @I gRI 3T 1998 T I[E @1 T3 U@ diec dieHl &l Bed Jia-l A1dis
BRI 91y B AR MY sagaaisi @i UeH - & [0y ARl Tl 9Ed B HHiEl ) dar @ 715 9 BuH sise 18
TIeHT & dod J6® 6l WPR & SR UTd 3 Udd g, 9l Ade 3R Tiar HU1| B Y saghalsd o e foar sise o W
U@ HIHIa® hioc UH & UIIHR &1 9l 6| Tal, SUH0 Biiad, s oife & o 1 wafy o o o1 9@ 8| feramt &t
TS e o e & o yfit yron, wor e, uar ot & aaft uRife ez 8id B fowe ofse @1 o gdaE @t safy
HHTT 12 TEH a & AR TS 3 T 5 A & §1d B Al & e A gl

Sub questions

Question Number : 276 Question Id : 226895692100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



U e IS gieHl IE I 7T &

1. 37T 1998
2. 9[elg 2002
3. 3T 1993
4.9 1998

Options :

2268952683318. 1
2268952683319. 2
2268952683320. 3
2268952683321. 4

Question Number : 277 Question Id : 226895692101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

TS &1 qul &7 5-

1. B1Y fapry s

2. AP B SR AT fap S
3. AP Y fapry S

4. ¥ g fdeE s

Options :

2268952683322. 1
2268952683323.2
2268952683324. 3
2268952683325. 4

Question Number : 278 Question Id : 226895692102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

&g fae &1 & WUTaH @1 Sifidad 34afd 8-

1.9 98
2.24TgH
3.12 HgH
4,20 TgH

Options :

2268952683326. 1
2268952683327.2
2268952683328. 3
2268952683329. 4

Question Number : 279 Question Id : 226895692103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952683330. 1
2268952683331.2
2268952683332. 3
2268952683333. 4

Question Number : 280 Question Id : 226895692104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

1.3¥9s5a4
2991299
31391534
42092534

Options :

2268952683334. 1
2268952683335.2
2268952683336. 3
2268952683337. 4

Sub-Section Number : 3
Sub-Section Id : 22689528606
Question Shuffling Allowed : No

Question Id : 226895692105 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (281 to 285)

Read the following passage carefully and answer the questions:
Coconut

Botanical name of coconut is the Cocos nucifera and family is Arecaceae. The coconut tree is a member of the palm tree family.
The term "coconut” can refer to the whole coconut palm, the seed, or the fruitwhich botanically is drupe and not a nut.
Coconuts are known for their versatility of uses,ranging from food to cosmetics. The inner flesh of the mature seed forms a
regular part of the diets of many people known as Khobara. Coconuts are distinct from other fruits because their endosperm
contains a large quantity of clear liguid and when immature, may be harvested for their coconut water known as Shahale.
Mature, ripe coconuts can be used as prasad or nariyal or processed for oil and coconut milk from the flesh, charcoal from the
hard shell, cocopeat and coir from fibrous husk. Dried coconut flesh is called copra, and the oil derived from it is commonly
used in cooking as well as in making soaps and cosmetics. Long pinnate leaves can be used as raw material to make a variety of
products for furnishing and decorating, brooms, chatai, etc. The coconut fruit also has cultural and religious significance in
certain societies

Sub questions

Question Number : 281 Question Id : 226895692106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Cocos nucifera is the botanical name of-

1. Papaya

2. Arecanut

3. Cashew nut
4. Coconut



Options :

2268952683338. 1
2268952683339.2
2268952683340. 3
2268952683341. 4

Question Number : 282 Question Id : 226895692107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Family of coconut is -

1. Gramineae
2. Arecaceae
3. Leguminoceae
4. Anacardiaceae

Options :

2268952683342 1
2268952683343.2
2268952683344. 3
2268952683345. 4

Question Number : 283 Question Id : 226895692108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5§ Wrong Marks : 1

A product prepared from coconut fibrous husk used for planting of seedlings in nursery is -

1. Cocopeat

2. Mat

3. Liquid nutrient
4. Gil

Options :

2268952683346. 1
2268952683347.2
2268952683348. 3
2268952683349. 4

Question Number : 284 Question Id : 226895692109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Immature Coconut may be harvested for their coconut water is known as-

1. Coprale
2. Mahale
3. Shahale
4. Kahale

Options :

2268952683350. 1
2268952683351.2
2268952683352. 3
2268952683353. 4



Question Number : 285 Question Id : 226895692110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Coconut leaves are used for preparation of-

1. Brooms

2. Bedsheets

3. Shoes

4. Handkerchief

Options :

2268952683354 1
2268952683355.2
2268952683356. 3
2268952683357. 4

Question Id : 226895692105 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (281 to 285)
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Sub questions

Question Number : 281 Question Id : 226895692106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

1. TUIT
2. qurt

3.9
4. F1Rgd

Options :

2268952683338. 1
2268952683339. 2
2268952683340. 3
2268952683341. 4

Question Number : 282 Question Id : 226895692107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Taa HTURaR & -

1. A

2. Txpdr

3. TEA
4. T SUH

Options :

2268952683342 1
2268952683343.2
2268952683344. 3
2268952683345. 4

Question Number : 283 Question Id : 226895692108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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2.9
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Options :

2268952683346. 1
2268952683347.2
2268952683348. 3
2268952683349. 4

Question Number : 284 Question Id : 226895692109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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1. PIRE
2. 98
ER|
4. A

Options :

2268952683350. 1
2268952683351.2
2268952683352 3
2268952683353. 4

Question Number : 285 Question 1d : 226895692110 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

FIRTE & Ul &1 IuanT TR B & foe fear 9 & -

1913
2.9
3.9d

4, A

Options :



2268952683354. 1
2268952683355.2
2268952683356. 3
2268952683357. 4



